
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=math-worksheets


 

                                      
www.cuemath.com 

 
 
 

1) The slope of the line passing through two points (7, -8) and 
(2, -9) is ___. 
 

2) The slope of the line joining two points (3, -7) and (4, -7) is 
____. 
 

3) The slope of the line that passes through the points (3, 5) 
and (-7, 5) is ___. 
 

4) The slope of the line that passes through the points (-2, 11) 
and (-2, 6) is ___. 
 

5) If the slope of a line is 0, then the line is a ____ line. 
 

6) Find the slope of the line. 

 
 

7) Find the value of m if A(-3, m), B(0, 5) and B(3, 7) are 
collinear. 
Hint: Slope of AB = Slope of AC as A, B, and C are collinear. 
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8) There are two straight lines AB  and CD , where A = (9, 6), B 

= (-6, -4), C = (2, -2), and D = (-4, 7). Is ⊥ CDAB ? Why? 
 

9) Prove that A (0, -3), B (4, 5), and C (6, 4) form a right-
angled triangle that is right angled at B. 
Hint: Prove that slope of AB   slope of BC = -1. 
 

10) A surfboard rental in a city rents its surfboards for an 
upfront fee and an hourly fee based on the number hours 
it is rented. Jim rented a surfboard and saw that he owed 
$35 in 3 hours and $60 in 8 hours when he returned the 
surfboard. Find the hourly fee. 
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1) 1
5

 

2) 0 

3) 0 

4) Undefined 

5) horizontal 

6) 2
5

 

7) 3 

8) Yes, as the product of their slopes is -1. 

9) 
Slope of AB   Slope of BC = −

 = −
1

2 1
2

 

10) $5/hour 
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1) The slope a line joining two points 

(x1, y1) and (x2, y2) is 
−

−

2 1

2 1

y y
x x

. 

2) If the slope of a line is 0, then it is a 
horizontal line. 

3) If the slope of a line is undefined, 
then it is a vertical line. 
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